EXALCO_

ALUMINIUM SYSTEMS

PERGOLA

BIOCLIMATIC - C

LYYLTHMA BIOKAIMATIKHX MEPTKOAAL
AAOYMINIOY ME KINHTEZ MEPZIAEX

Bioclimatic aluminium pergola system
with rotating louvers

(@)
1
O
—
<C
=
—
(@)
=
m
<t
-
o
(L)
o
L
o
S~
=
=

Scan G view
the catalogue




Motonoinoeis etaipias / Company certifications

AIEAAZH AAOYMINIOY / ALUMINIUM EXTRUSION

IS0 9001:2015  XUotnua diaxeipions noidtntas / Quality Management System

IS0 14001:2015  XUotnpa MepiBaniovtikns Alaxeipions / Environmental Management System

IS0 45001:2018  YUotnpa Aiaxeipions Yyeias G Aopdneias atnv Epyacia / Occupational Health G Safety Management System
IS0 50001:2018  XUotnpa Alaxeipions Evépyeias / Energy Management System

EN 15088:2005 °‘Edeyxos Mapaywyns Epyootaciou — EU R305/2011 — Zruavon CE / Factory Production Control - EU R305/2011
- CE Marking

Enipavelakn ene€epyaoia G aioBnukn / Surface treatment G aesthetics

QUALICOAT
Lnya Moiétntas Hiektpoataukns Bapns Em@dveias Adoupiviou cUpgwva pe tnv MNpodiaypaen QUALICOAT
Quality Label for Powder Coated Aluminium Surfaces according to QUALICOAT Specification

QUALIDECO

Ynua Moidtntas Alakdopnans (XoupnAixpwpias) HAsktpootatika Bappévns Enigdveias Adoupiviou oUu@uva pe thy
Mpodiaypagn QUALIDECO

Quality Label for Decoration (Sublimation) of Powder Coated Aluminium Surfaces according to QUALIDECO Specification
QUALIMARINE

Xnpa Moiétntas HAektpoaotatikns Bagns Emgdvelas Adoupiviou alpgpwva pe ts fadnikés npodiaypapés QUALIMARINE
Quality Label for Powder Coated Aluminium Surfaces according to the French QUALIMARINE Specifications

QUALANOD
Znpa Moiétntas Avodiwaons Enipdveias Adoupiviou cUugwva pe tnv Mpodiaypaen QUALANGD
Quality Label for Anodized Aluminium Surfaces according to QUALANOGD Specification

Eupwnaikd Mpétuna / EU standards
EN 515, EN 573-3, EN 755-2, EN 755-9, EN 12020-2

Mepiexdueva / Table of contents

YuvonuKkaos nivakas / Profiles Summary 6
Mpogin / Profiles 10
TunoAoyia / Typology 16
Topés / Sections 18
YuvapuoAdynon / Assembly 26
E€apthuata / Accessories 46
0bnyies / Cutting instructions

G pétpa konns G dimensions 50



PERGOLA BIOCLIMATIC - C

2U0tnua BiokAigatukns
MEPIKOAAZ AACYMINIOY
UE KIVNTES NePaibes

To oUgtnpa EXALCO PERGOLA BIOCLIMATIC - C efvar éva npwto-
noplakoé oUotnua okiaons €€'onokAnpou and afoupivio Ye
nepIoTpePOUEVeS Nepaides, 1o onofo Nnapéxel npoatacia and tnv
nAiakn aktivoBonia oe ouvBrkes nAlogdvelas, anAd kai and tn
Bpoxn n 1o x16vi Ye oUoTnPa eAeyXOUEVNS Anoppons USATwy.

0 poviépvos oxedlaouds o ouvdlaoud e tnv noikidia xpwudtwy
rou nNpoaPEpoupe, kaBws Kkai n duvatdtnta npoaBrkns dlapdpwy
autopatop@y (pwtiopds LED, aigBntipes Bpoxns, xiovioy, aépa
kAM), kaBiotd tnv népykona 1davikn yia xpAon kdAuwns
€EWTEPIKAIV KAI NUIUNAIBPIWV XWPWV OE Katolkies, EeVoBOXEIaKES
€YKATAoTAgElS Kal XWPOUS aTiaans.

IXEAIAIMOZX

H EXALCO PERGOLA eivai €161kd oxedlaopévn kai geAetnpévn yia
va anoppo@dtal o BépuBos nou npokaneital katd tn didpkela
kivnons twv nepaidwv.

Auté opeifetal apxikd otn XpNon POTEP MoU eNITPENE TNV
efelBepn kivnon twv nepoidwv. To potép eival tonoBetnpévo
010 E0WTEPIKO TNS TpaPEpoas wate va pnv eival opatd.

EninAéoy, pe tn xphon eAacukdyv evdidueoa twv nepaidwv
enituyxavetal to kAeioipo twv nepoidwv pe aBdpufo tpdno. Ténos,
ato nAdivé pépos twv nepaidwv tonoBeteital eni tns tpaépaoas
éva Bouptadki nou ekT6s and 1o va anoppo®d to Bépufo katd
n didpkela kivnons twv nepaidwy, epnodidel 1o pws and 1o va
€10€nBe1 dtav n nepaida eivar kAgloTA.

NMPOAIPETIKA NMPOIONTA
MPOXOHKH AMO TON MEAATH

Auvatdtnta emidoyns 61aQOpwWY AUTOUATIOHWY:

+  Owuopos LED

« AigBntipas Bpoxns n avépou

«  Béppavon pe oéunes unepUBpwy

«  Movdbda nopnou kai eéyxou

«  Metddoon Axou Kal pouaikns péow bluetooth
- 'EAeyxos péow smartphone

« AioBntnpas Beppokpaaias

« AigBntApas xioviou

ALUMINIUM SYSTEMS

Bioclimatic
ALUMINIUM PERGOLA SYSTEM
with rotating louvers

EXALCO PERGOLA BIOCLIMATIC - Cis aninnovative shading system
with rotating louvers. It is entirely made of aluminium and offers
protection from sunlight during the sunny days as well as from
rainwater or snow through its special drainage system.

The modern design in combination with the variety of colours
that we provide as well as the possibility of adding different
automated systems (LED lighting, rain, wind and snow sensors,
etc.) makes Exalco Pergola an ideal solution to cover outdoor
and semi-outdoor spaces in houses, hotel facilities, restaurants
and cafés.

DESIGN

EXALCO PERGOLA is specifically studied and designed in a way to
absorb any noise that might be caused during the movement of
the louvers. This happens thanks to the use of a motorized
system that permits the free movement of the louvers.

The motorized system is situated in the interior part of the beam
to ensure that it will not be visible. In addition, thanks to the use
of a gasket between the louvers, the noise provoked from the
louver's closing is prevented.

Moreover, at the flank of the louvers a brush is situated on the
beam which not only absorbs the noise provoked from the louver's
movement but also prevents the sunlight from entering when
the louver is closed.

OPTIONAL PRODUCTS
CUSTOMER'S ADDITION

Possibility to choose from a variety of automated systems:
« LED lighting

« Rain or wind sensor

+ Infrared heating

« Transmitter and central control

+  Music and audio control system through bluetooth

«  Smartphone control

«  Temperature sensor

+  Snow sensor

EXALCO PERGOLA BIOCLIMATIC-C / 3



I ®INIPIZMA To pivipiopa twv Npoid pnopef va enineyel yeta&u avodiwans,
FINISHING noikifias xpwpdtwy niektpootatkns Bagns (RAL)

NISIQONY 403

NTERNATIONAL
(o]

<

o

)

3

o

(-3

9

h anopipnans Eunou.

INDUSTRIAL

The finishing of the profiles can be chosen between anodized,
RAL colour or imitation wood.

KINHZH MEPZIAQN H enelBepn kivnon twv nepoidwv and 0° éws 100° enitpénel tnv
LOUVERS' MOVEMENT nAnpn expetdnneuon tns népykonas e OAEs TS KAIPIKES

ouvlnkes.
The free rotation of the louvers from 0° to 100° allows the
maximum use of the pergola during different weather conditions.

00
G‘ H opogn napapével kieloth, npoopépovias npoatacia
and 6na ta Kaipika eaivopeva.
The roof remains closed, offering protection from all weather conditions.

90°
(D Emitpéner tnv andAutn expetdineuon tou nAiou.
Permits full use of the sunlight.

50
Enitpénel tov aepiopd Tou XWPou aveEaptnTws KaIpIKWV

G- ouvBnKwv.

Permits the ventilation of the area independently of the
weather conditions.

100°

(D Méyiato dvolypa nepaibas, nou enitpénel tnv ekdetanieucon
10U nAIakoU pwTds akOpN kal TNy wpa tns duons.
Maximum louver’s opening which allows maximum use of
sunlight even in sunset.

45°
@ Enitpéner ous aktives tou nAaiou va eioénBouy,
enéyxovtas Ouws tn PwIelvoTNTa.

Allows the sunlight to enter,
controlling though the illumination.



ALUMINIUM SYSTEMS

ATOPPOH OMBPIQON YAATQN
RAINWATER DRAINAGE SYSTEM

Eidikds oxebiaopds tns népykonas, Wote va
ounnéyel kal va odnyel ta Udata otnv
1pafépaa Kkal péow tns kondvas va ta odnyei
oto £dagos. To npo@iA tns nepaidas eival
€181kd dlapopPwEVO, WOTE Va oUYKPATel Ts
ataydves vepoU Kal va Pnv NéPTouV aTo
€6apos katd tnv kivnon tns nepoidas.

Exalco Pergola is designed in a way to collect
rainwater and channel it to the side beams of
the louver. Then, the rainwater through the
mullion is guided outside of the construction.
The louver's profile is studied to keep the rain
drops that is collected and not fall down when

the louvers start moving.

YUvbeopos
1paBépaas-kondvas
200-734
Beam-mullion
connector 200-734

rwAnvas
Tube

700

ol eI

‘Avolyua Anoppons
Drainage Opening

EXALCO PERGOLA BIOCLIMATIC-C / 5



PROFILES
. SUMMARY



200-718 *

200-719

200-733

200-731

200-722

4

>

>

Bdpos / Weight
Mnkos / Length
Lenida / Page

Bdpos / Weight
Mnkos / Length
Zenida / Page

Bdpos / Weight
Mnkos / Length
ZeAida / Page

Bdpos / Weight
Mnkos / Length
Lenida / Page

Bdpos / Weight
Mnkos / Length
Ledida / Page

— 4020gr/m
—4,1m/51m/6,1m
- 12

— 1423gr/m
- 6m
- 14

— 2812gr/m
-3, 1m/4,1m/5,1m
- 13

- 2719gr/m
—=3,1m/4,1m/5,1m
- 13

— 349gr/m
— 6m
- 14

ALUMINIUM SYSTEMS

PO S |

L

P 1

U

n_n

EXALCO PERGOLA BIOCLIMATIC-C / 7



LYNOMTIKOL NMINAKAY / PROFILES SUMMARY

200-732 *

200-735

200-725

200-734

200-728 *

Bdpos / Weight
Mnkos / Length
Lenida / Page

Bdpos / Weight
Mnkos / Length
Zedida / Page

Bdpos / Weight
Mnkos / Length
Leniba / Page

Bdpos / Weight
Mnkos / Length
ZeAdida / Page

Bdpos / Weight
Mnkos / Length
Ledida / Page

- 596gr/m
— 6m
- 14

— 807gr/m
—> 6m
- 14

— 533gr/m
— 6m
- 12

— 3928gr/m
- 6,1m
-1

- 2012gr/m
— 6m
—> 15

T

©




ALUMINIUM SYSTEMS

200-740 * Wi S

Yenida / Page -13 ] [

200729 * f e, - s
Yenida / Page =15

200-730 " Wioo o em
Leniba/Page  — 15

Y=

102-011 ~ i o Zem " q 3

Yenida / Page -1

32444 » Bdpos/Weight — 444gr/m
Mnkos / Length  — 6m
Yenida / Page -1

8230 » Bdpos/Weight — 122gr/m
MnAkos / Length  — 6m
Zedida / Page - 14

EXALCO PERGOLA BIOCLIMATIC-C / 9



. PROFILES



ALUMINIUM SYSTEMS

200-734
KOAGNA / MULLION

l BAPOX
WEIGHT
3928 gr/m

POMEX AAPANEIAL

; l@ MOMENTS OF INERTIA

Ix=253,20cm"
Iv=251,30cm"

120mm

120mm

S 2
KAMAKI KOAONAX

BAPOL / WEIGHT

337 gr/m MULLION'S CAP

71,6mm

9,5mm

BAPOX / WEIGHT MPODIA KINHZHX

444 gr/m MOVEMENT PROFILE

— 35,5mm

EXALCO PERGOLA BIOCLIMATIC-C / ™

10 5 0

KAIMAKA 20
SCALE 1:1 —— —



MPO®IA / PROFILES

49,5mm

200-718

TPABEPZA
BEAM

BAPOL
WEIGHT

4020 gr/m

POMEX AAPANEIAX
MOMENTS OF INERTIA

IX=594,0cm"
IV=206,7cm"

€
5
€
€
3
M|
J( - 1
120mm
7mm [ ,_ﬂ _ E
120mm
200-725
BAPOL/WEIGHT KATARKI TPABEPXAY
533 gr/m BEAM'S CAP
2 s



ALUMINIUM SYSTEMS

200-733
MEPEZIAA / LOUVER

BAPOL
WEIGHT

2812 gr/m

POMEX AAPANEIAL
MOMENTS OF INERTIA

Ix=32,85cm4
Iy=336,69cm4

S

ee—
184,9mm
200-731 — 19mm — 200-740
MEPYIAA /LOUVER 8 1mm [ ] [ KAMAKI MEPZIAAY
BAPOX LED
WEIGHT LED LOUVER'S CAP
2719 gr/m
BAPOX / WEIGHT
POMEX AAPANEIAZ
MOMENTS OF INERTIA 91 gr/m
| =32,66cm?*
Iy=327,5cm"
ee— . Al
184,9mm

BEALEN e EXALCO PERGOLA BIOCLIMATIC - C /

46mm

46mm

13



MPO®IA / PROFILES

120mm
I
5
—
200-719 BAPOL / WEIGHT KATARKI TPABEPXAY ME BAAAMO
1423 gr/m BEAM'S CAP WITH VACUUM
49mm 73,8mm
36mm —
( ‘ C

€
I £
£ £ =

= =

g N N
E 3 3 ‘

=
( — ‘ (— |
37mm
200-732 200-735
sapoz/weisnt  AMOZTATHE EMMPOT BAPOZ / WEIGHT AMOSTATHE MIZQ
596 gr/m FRONT SPACER 807 gr/m BACK SPACER
= —— I 1,5mm

f ] 10,Tmm
( — 30mm
71mm
200722 o230

BAPOL / WEIGHT AMOXTATHE MAAINOX BAPOI / WEIGHT AAMA
349 gr/m SIDE SPACER 122 gr/m FLAT BAR

10 5 0

KAIMAKA 20
14 / SCALE 1:1 —— —



66,7mm

ALUMINIUM SYSTEMS

60mm

Bapor/weishT  KATTAKI XQPIZMATOX
200-728 2268 gr/m PARTITION CAP

170mm

78mm

XQOPIXMA
PARTITION

BAPOX
WEIGHT

) 2012 gr/m
120mm
93mm
200-730
BAPOL / WEIGHT KANAAI ATTOPPOHL YAATQON
1124 gr/m DRAINAGE GUTTER
KAIMAKA 20 Y’ EXALCO PERGOLA BIOCLIMATIC-C / 15

SCALE 1:1 —— —



,  TYPOLOGY



ALUMINIUM SYSTEMS

METILTEZ AIALTALZEIX MAXIMUM DIMENSIONS

TpaBépaa: 6m / Mepaida: 4,3m* *xXwpis Qoptio xiovioU Beam: 6m / Louver: 4,3m* *without snow load

Me @optio xiovioU 10 péyiato pnkos pelwvetal ota 3,80m. The maximum length with snow load is 3,80m. In each

e kdBe kataokeun ol nepaibes kivouvtal tautdxpova kal 6tav  construction the louvers must move at the same time.
xpelaletal beUtepo potép Ba Npenel va xpnalponoleital kal To For the use of a second motorized system it is necessary to
w}ag. use the "T" profile.

4 KOAONEX 3 KOAONEX
4 MULLIONS 3 MULLIONS

2 KOAONEX 2 KOAONEX

(NEPZIAA NAPAAAHAA ETON TOIXO) (NEPEIAA KAGETA ETON TOIXO)
2 MULLIONS 2 MULLIONS

(LOUVER PARALLEL TO WALL) (LOUVER PERPENDICULAR TO WALL)

X(OPIX KOAONEX
NO MULLIONS

Le dAes Us kataokeués Ba npénel va epappodetal kaion
napdAdnAn otn dielBuvaon twv nepaidwv. H kAion eival
~2,00%, oe KaBe nepintwon avdioya Ye 1o PAKOS NS

KOTAOKEUNS.

For every construction an inclination parallel to louver's

direction must be applied. The inclination should be ~2,00%, AITIAH 8 KOAONEX
according to the length of the pergola. _ DUBLEX 8 MULLIONS
—_—>

Ta evbeIKTIKA KOKKIva BEAN unodelkvdouv tnv KAioN TOU CUOTAPATOS.

The red arrows indicate the inclination of the system. EXALCO PERGOLA BIOCLIMATIC-C / 17



. SECTIONS



(EXALCO.

ALUMINIUM SYSTEMS

- _ 14 e N I . I I
4A 5 4B
oen. 24 oen|24 oen. 25
pg. 24 pg|24 pg. 25

KATOWH / PLAN VIEW

3A - 0ed.22 / pg. 22
[» 3B —>0ed.23/pg. 23

oen. 20
pg, 20 |
|

I» 2 0ed. 21/ pg. 21 MPOZOWH / FRONT VIEW

EXALCO PERGOLA BIOCLIMATIC-C / 19



TOMEY / SECTIONS

/ KOAONA - MTYPHNAE (OPIZONTIA TOMH)
MULLION - CORE (HORIZONTAL SECTION)

[]
B <n

102-011 ’

120mm

200-734

120mm

TOMH 1
SECTION 1

Xnpikd aykupio M10x130

Chemical fixing threaded rod M10x130
02 Aapapivépida M5.5x19

Self-tapping screw M5.5x19

Mupnvas
03 Bass
Core
KAIMAKA 20 o5 0

20 / SCALE 1 oy




ALUMINIUM SYSTEMS

/ KOAONA - MYPHNAL (KAGETH TOMH)
MULLION - CORE (VERTICAL SECTION)

120mm

. 200-734

102-011

o

TOMH 2
SECTION 2

Xnuiké aykUpio M10x130
Chemical fixing threaded rod M10x130

02 Napapivépida M5.5x19
Self-tapping screw M5.5x19

Mupnvas
Core

SCALETO T e EXALCO PERGOLA BIOCLIMATIC-C / 21



TOMEY / SECTIONS

200-722

90,4mm

200-725

102-011 fyre

200-734 —

185mm

22/

200-718

Bouptadki No7

Brush No7

Napapivopida M5.5x19

[e=]
N

Self-tapping screw M5.5x19

E€dptnpa kivnans nepaidwv

o
w

Louvers' movement accessory

(o]
S

MAaotikd daxtunidl neipou nepaidas

Louver's rotation plastic plug

MNAaotikd daxtudibl nepiotpogns nepaidas

Louver's rotation plastic plug

E€dywvo na&iuddi yia Bida M6

Hexagon nuts for bolt M6

(=]
N

E€dywvn Bida M6x20 INOX

Hexagon bolt M6x20 INOX

YUvbeapos viidas - Hotép

Motorized system-lever linkage connector

EEdywvn Bida M5.5x35 INOX

Hexagon bolt M5.5x35 INOX

Bdon potép

Motor base

YUvbeopos tpaBépaoas - kondvas

Beam-mullion connector

1

Aapapivépidba M6x20

Self-tapping screw M6x20

Bida ppeddtn M6x32

Self-tapping screw M6x32

-
i

Bida ppelapioth M6x20

- o
w N (8]

Hexagon socket screw M6x20

TOMH 3A
SECTION 3A

ANEY KAIMAKAX
SCALETOFIT



200-735

200-718

ALUMINIUM SYSTEMS

94mm

=
LT

200-732 200-731

)
— 66,69mm
200-725 ' 200-725
&
. . 102-011
200-734
70,4mm
120mm TOMH 3B
SECTION 3B

ANEY KAIMAKAL
SCALETOFIT

EXALCO PERGOLA BIOCLIMATIC-C / 23



TOMEZ / SECTIONS

200-718

200-735

200-731

200-733

TOMH 4A

SECTION 4A

&

200-725

24/

186,5mm

200-731 200-732 200-735
200-729 200-731

200-728

TOMH 5

SECTION 5

ANEY KAIMAKAX
SCALETOFIT



ALUMINIUM SYSTEMS

TOMH 4B
SECTION 4B

200-731 200-732

g B

200-718

H O M\

200-730

Bida ppelatn Allen EEATQNH
Hexagon socket screws

AapapivéBida M5.5x16
Self-tapping screw M5.5x16

(==}
N

E€dywvn Bida M6x20 INOX
Hexagon bolt M6x20 INOX

o
w

MAagotikd daxtunidl neipou nepaidas

Plastic plug for louver cap

Tdna nepaibas
Louver tap

Adotixo pouokdki nepaidas

Louver's gasket

Bdon atnpigns xwpiopatos népykonas

(=)
N

o
SN

Partition's support base

SCALETOFIT ™ EXALCO PERGOLA BIOCLIMATIC-C / 25



ASSEMBLY
, INSTRUCTIONS



ALUMINIUM SYSTEMS

I
% ‘Otav undpxer avaykn anoppons uddtwv tdte

xpnaiponoioUye dinAn koAdva.
When water drain is needed we use double mullion
installation.

1. Eykatdotaon koddvas - nupnva
Mullion - core installation

2. Eykatdatacn kondvas - tpafépoas
Mullion - beam installation

3. Eywatdotaon dinAns koAdvas - dinAns
TpaBépaas
Mullion - double beam installation

4. (A+B) Luvappondynon nepoidas pe
kal xwpis npo®in Kivnans
Louver assembly with and without
movement profile

5. Eykatdotaon xwpiopatos
Partition installation

EXALCO PERGOLA BIOCLIMATIC-C / 27



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

/  ETKATALTAIH KOAONAL - MYPHNA
MULLION - CORE INSTALLATION

200-734

2444 3781

A. EmiAéyoupe tov nupnva athpigns tns kodvas avdanoya pe
v emAoyn pas, pe ubpoppon (2444) 1 xwpis ubpoppon
(3781).

We choose the pergola's metallic mullion base, depending
on whether we want a draining hole (2444) or not (3781).

B. TonoBetoupe ouptapwtd to npo@id tns koAdvas 200-734.
We install the mullion profile (200-734).

3781

C. Bidcyvoupe to npogid 200-734 otov nupnva (2444 h
3781) e us Aauapivopides (3).
We fix the 200-734 profile on the pergola's mullion base
using the self-tapping screws (3).

D. Metd to angddiaopa tns koAdvas, TNV NAKTWVOULE HE Ta
XNPIKG aykUpia (4).

. . . I
After the leveling of the mullion, we fix it on the ground * 0 nAaoukds owArvas uBpoppons pe B60 nou pnaivel

oto e€dptnua 2444 bev diatiBetal and tnv etaipia pas.
The plastic water drain tube (860) that is installed in
the component 2444 is not sold by our company.

using the chemical fixing threaded rods (4).

E. Ténos, koupnvoupe ta npodin - kandkia 102-111.
Lastly, we put the 102-111 cap profiles.




200-734

ALUMINIUM SYSTEMS

102-011 E

Metanikn Bdon otnpiEns kondvas népykonas

Pergola's mullion metallic base

Kondva 200-734

Mullion 200-734

Aapapivopides M5.5x16

Self-tapping screw M5.5x16

Xnpikd aykUpia M10x130

Chemical fixing threaded rod M10x130

EXALCO PERGOLA BIOCLIMATIC-C / 29



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

/ ETKATALTAIH KOAONAX - TPABEPIAL
MULLION - BEAM INSTALLATION

2445 3796

200-718

Eviovoupe ta npogin tns tpaBépoas 200-718
XPNOIJOMNOIVTAs TS ywvies cuvdéoews 2445 kal 3796 kal tn
ywvia euBuypdppions 3792, o1 onoies tonoBetouval
ouptapwtd péaa ato npoin tns tpaBépaas, dnws gaivetal
otnv elkdva. ZTnv cuvéxela BIdvoval ol ywvies ouvoEaews

pe ppeldtes Bides allen.

lwvia ouvbéoews 200-718 / 44 - 8mm

Connection square 200-718 / 44 - 8mm

The 200-718 profiles are joined together using connection

lwvia ouvdéoews tpapépoas 200-718

squares 2445 and 3796 and the 3792 alignment square

Beam’s 200-718 connection square

which are installed in the beam profile as shown in the picture

above. Then, the connection squares are fixed using the

lwvia euBuypdupions tpaBépaas 200-718 (48,9mm)

Beam's 200-718 alignment square (48,9mm)

hexagon csk socket screw.

30 /



200-722

ALUMINIUM SYSTEMS

5155

200-718

200-732

Napapivopides M5.5x16
Self-tapping screw M5.5x16

) Bida ppeddtn allen e€dywvn M5x20
Hexagon socket csk screw M5x20

3 Anootdtns eunpds 200-732
Front spacer 200-732

EXALCO PERGOLA BIOCLIMATIC-C / 31



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

3791

3790

200-734

YUvbeapos tpapépoas kondvas 200-734 3 Aapapivopides M6x32
Beam-mullion connector 200-734 Self-tapping screw M6x32

*YwAnvas @60 lwvia ouvdéoews népykonas 66,5mm

*Pipe @60 Pergola's connection square 66,5mm




200_732 ALUMINIUM SYSTEMS

H“‘Hl

200-718

3790

200-734

Bouptodki No7 - 5155 s:c 0 nAaoukos owAnvas udpoppons pe B60 nou pnaiver oto e€dptnua 2444
Brush No7 - 5155 bev SiatiBetal and tnv etaipia pas.
Bi6a ppelapioth M6x20 The plastic water drain tube (@60) that is installed in the component 2444
n Hexagon socket screw M6x20 is not sold by our company.

EXALCO PERGOLA BIOCLIMATIC-C / 33



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

200-722 L]

Bouptadki No7 - 5155
Brush No7 - 5155

) Bida ppelapiotn M6x20
Hexagon socket screw M6x20

200-732

200-718

102-011

lwvia guvdéoews népyrkonas 66,5mm

Pergola's connection square 66,5mm

Bida ppeddtn Allen e€dywvn M5x20

Hexagon socket csk screw M5x20




ALUMINIUM SYSTEMS

200-722 n 200-732

-—-._____--.

200-718

200-725

200-734

102-011
LTEPEWVOUE TN Ywvia guvdEéoews pe Tn xpnon twv epedapiotwy BIOWOV Kal Twv
nepikoxniwv Kal téAos tonoBetouvtal ta kandkia (200-725).
ﬂ Napapivopides M6x32 We fix the pergola's connection squares using the hexagon socket screws and
Self-tapping screw M6x32 the hex nuts and finally the cap profiles (200-725) are installed.

EXALCO PERGOLA BIOCLIMATIC-C / 35



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

TeAiko anoténeapa ouvappoddynons kodovas - tpapépaas
Final assembly of the mullion - beam

36 /



ALUMINIUM SYSTEMS

/  ETKATALTAIH KOAONAZ - AINAHE TPABEPIAL
MULLION - DOUBLE BEAM INSTALLATION

3791
——H
3790 l

200-734

lwvia ouvdéoews népykonas 66,5mm

Pergola's connection square 66,5mm EykaBiotavtal ol ywvies ouvoéaews (3790, 3789) atnv koddva

wvia ouvdéoews népykonas 30,5mm (200-734) pe tn xprion twv Aapapivopidwyv M6x32 kai atn cuvéxela
Pergola’s connection square 30,5mm tonoBeteital o oUvdeopos tpafBépaas - kondvas (3791).
The connection squares (3790, 3789) are installed on the mullion

Biba ppedapioth M6x20
dpecapio X (200-734) using the self-tapping screws and then the beam-mullion

Hexagon socket screw M6x20 _
connector (3791) is placed.

Aapapivopides M6x32 T

Self-tapping screw M6x32 % 0 nAaoukds ownnvas udpoppons pe @60 nou pnaivel ato e€dptnua
2444 6ev biatiBetal and tny etaipia pas.

"MAaoukds owdrvas ubpopporis 260 The plastic water drain tube (B60) that is installed in the component

*Plastic water drain pipe 260 2444 is not sold by our company.

EXALCO PERGOLA BIOCLIMATIC-C / 37



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

200-722 200-732 200-718

200-735

200-734

lwvia ouvdéoews népykonas 66,5mm

Pergola's connection square 66,5mm

lwvia ouvbéoews népykonas 30,5mm Evcdvoupe tnv koAdva 200-734 e tn 8indn tpaBépaa e tn xprion
Pergola's connection square 30,5mm twv AapapivoPidwy MBx32 kal twv ppelapiotwv Biddv MBx20,
. . onws gaivetal atny eikdva.
3 Bida ppelapioth M6x20
Hexagon socket screw M6x20
The 200-734 mullion is installed on the double beam using the
Aapapivopides MBx32 self-tapping screws M6X32 and the hexagon socket screws
Self-tapping screw M6x32 M6X20 as shown in the picture above.

38 /



5155

102-011

200-722

200-732

200-734

ALUMINIUM SYSTEMS

200-718 200-735

102-011

TonoBeteital n koAdva 200-734 e tn xprion twv AapapivéBidwy atn dinAn tpaBépaa kai teAikd Koupnwvovtal ta Kkandkia
102-011, wote va anokpuntovtai ol ywvies ouvbéaews kai ol Bides.

The mullion 200-734 is installed on the double beam and finally the 102-011 caps are placed in order to hide the connection

squares and the screws.

EXALCO PERGOLA BIOCLIMATIC-C / 39



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

5155 200-722 200-732 200-718 200-735

200-725 200-725 200-725

Ténos, tonoBetoUvtal ta kandkia 200-725 yia va kadugBoUv ontikd ol ywvies ouvoéaews tns népykonas.
Finally, the 200-725 caps are installed in order to visually seal the connection squares.

lwvia ouvdéoews népykonas 30,5mm 3 Bida ppeldtn Allen e€dywvn M5x20
Pergola's connection square 30,5mm Hexagon socket csk screw M5x20

) Bida ppelapiotn M6x20 4 lwvia euBuypdppions tpaBépoas 3792 (48,9mm)
Hexagon socket screw M6x20 Beam's alignment square 3792 (48,9mm)




ALUMINIUM SYSTEMS

TeNiko anoténeopa ouvappondynons kodovas - dinAns tpapépaas
Final assembly of the mullion - double beam

I
% ‘Otav undpxer avaykn anoppons uddtwv tdte xpnaiponoloUpe dinAn Kondva.
| When water drain is needed we use double mullion installation.

EXALCO PERGOLA BIOCLIMATIC-C / 41



OAHFIEX ZYNAPMOAQIHEHE / ASSEMBLY INSTRUCTIONS

/ IYNAPMOAOMHIH NEPZIAAL (XQPIZ NPO®IA KINHIHE)
LOUVER ASSEMBLY (WITHOUT MOVEMENT PROFILE)

200-731

31 2447

Tdna nepaidas

Louver's cap

Adaouxo - Pouokdki nepaidas

Louver's gasket

NAaotik6 daxtuAidl neipou nepaibas (avoixtd)
Louver's cap plastic plug (open)

MpogiA kivnans
Movement profile

Aapapivopides M3,9x25 E€dptnpa kivnons nepaidwv
Self-tapping screws M3,9x25 Louver's movement accessory




ALUMINIUM SYSTEMS

/ LYNAPMOAOTHIH NEPZIAAYL (ME MPO®IA KINHIHL)
LOUVER ASSEMBLY (WITH MOVEMENT PROFILE)

200-731

E€dywvo na&iudd yia Bida M6
Hexagon nuts for bolt M6

NAaouks daxtunidl nepiotpopns nepaidas

Louver's rotation plastic plug n
Anootdtns (6axtuAibl afoupiviou) 0 anootdns (6axtuAidi adoupiviou) npénel va
Aluminium ring spacer tonoBeteital o andotaon 1,5mm and tnv téna tns

NAaotukd daxtudidl neipou nepoibas (kAeIoTE) nepofbas yia tv kaflitepn Aertoupyia ts.

Louver's cap plastic plug (closed)

The spacer (aluminium ring) must be installed at a
distance of 1,5mm from the louver's cap for the
better functioning of the louver.

Bida e€dywvn M6x20 Inox

Inox hexagon bolt M6x20

EXALCO PERGOLA BIOCLIMATIC-C / 43



OAHIMEZ LYNAPMOAOMHEHE / ASSEMBLY INSTRUCTIONS

/  ETKATALTAIH XQPIZIMATOX H Bdon otipi€ns (3112) tou xwpiopatos
PARTITION INSTALLATION EVWVETAI € TO XWPIOUA XPNOIYOMOIMVTAS TS
ppeddtes Bides, dnws gaivetal otnv ikdva.

The support base (3112) of the partition is
placed on the partition using the socket
screws, as shown in the picture.

200-728

-~
Xwpioua 200-728
Partition 200-728
2 Bdon othpigns xwpiopatos népykonas 3112 3 Bibes ppeldtes
Partition's support base 3112 Socket screws




200-732

200-729

3112

200-725

TpaBépoa 200-718

Beam 200-718

ALUMINIUM SYSTEMS

200-735

200-718

Anootdtns epnpés

Front spacer

7 Bides ppelates
Socket screws

Kandki xwpiopatos

Partition's cap

Anootdtns niow
Back spacer

| 200-728

H Bdon otnpiEns (3112) pe to xwpiopa (200-
728) tonoBetovvtal atnv tpaBépoa (200-718)
xpnoigonolicvias epeddtes Bides, evwd ato kandkl
10U Xwpiopatos tonoBetolvial ol aNootdtes
(200-732, 200-735). Téos, tonoBetoUpE T0
kandwki tou xwpiopatos (200-729) pe tous
anogtdtes 0To XWpPIoua, énws eaivetal atny
elkdva.

The partition with its support base (3112) are
installed on the beam (200-718) using the socket
screws whilst the front and back spacers
(200-732, 200-735) are placed on the partition's
cap. Finally, the cap (200-729) in conjunction
with the spacers are installed on the partition, as
shown in the picture.

EXALCO PERGOLA BIOCLIMATIC-C / 45



, ACCESSORIES



<

94-20-00-3781
Metandikn Bdon
othpIENs Kofdvas
népykonas xwpis
vepoxutn

Pergola’s mullion
metallic base without
draining hole

|

94-20-00-2444

MetaAdikn Bdon
otnpiEns koAdvas
népykonas pe vepoxdtn

Pergola’s mullion
metallic base with
draining hole

ALUMINIUM SYSTEMS

# - # -
fg. \ fg. \
\9 \9

A 94-20-00-2442
Yet e€aptnudtwyv
nepiatpopns nepaidas pe
neipo Inox nepaidas LED

4 94-20-00-3111

A 94-20-00-2441
Yet e€aptnUdtwy NepIoTPOPNS
nepaidas xwpis BapeAdsi

Tdna nepaidas
anoupiviou

Aluminium louver's cap Louver's movement accessories

LED louver's movement
accessories

I

* [IPOLOXH! Ztnv napayyenia
va d1eukpIvidetal 10 XpWHa. I
ATTENTION! At the moment of the order, A Ttnv tonoBétnon va npoatiBetal kal kdAa onelpwPATmY.
please specify the color of your choice. A Add threadlocker at the moment of installation.

M

]

A
94-20-00-3796
lwvia ouvbéoews
tpaBépaoas 200-718

Beam's 200-718
connection square

A
94-20-00-2445
lwvia ouvdéoews
200-718 / 44,8mm

A
94-20-00-3790
[wvia ouvoéoews
népykonas (66,5mm)

A
94-20-00-3789
lwvia ouvdéoews
népykonas (30,5mm)

A
94-20-00-3792
lwvia euBuypdupions
tpaBépaoas 200-718
(48,9mm)

Beam's 200-718
alignment square
(48,9mm)

Pergola’s connection
angle (30,5mm)

Pergola's connection
angle (366,5mm)

Connection square
200-718 / 44,8mm

EXALCO PERGOLA BIOCLIMATIC-C / 47




ETAPTHMATA / ACCESSORIES

< 94-20-00-3791
LUvbeopos tpaBépaas kondvas 200-734
Beam-mullion's 200-734 connector

A

94-20-00-2446
MAactukoé daxtunidl nepiotpopns nepaoidas
Louver's rotation plastic plug

A

94-20-00-2447
MAaoukoé daxtudidl neipou nepaidas
Louver's cap plastic plug

A

94-20-00-3116
Tdnes anoppons kavaniol népykoas (Zeuydpl)
Draining gutter'scaps (2 pieces)

A

MPOZOXH! Ltnv napayyedia va Sieukpividetal to xpdpa.
ATTENTION! At the moment of the order, please specify the color of your choice. |

A

94-20-00-3594

Q Adotixo Producta No60.2
Louver's gasket Producta No60.2

< 94-20-00-3112
Bdon otipi€ns xwpiopatos népykonas
Partition’s support base

A

ATTENTION! At the moment of the order, please specify the color of your choice. |

MPOXOXH! Itnv napayyedia va ieukpividetal to xpdpa.

< 94-20-00-3113
‘Evaan tpaBépaoas pe tpaBépaa
Beams' connector

< 94-20-00-3890
Kit yotép Hector Ye autopatiopd kal tnAeXeIpIoTAPIO
Hector motor kit with automation and remote control

! 1 T i ‘Otav pnaivel 6eGtepo potép Ba npénel va xpnaoiponolieital kai tag

J When a second motor is installed, it is nececcary to use the T profile |

48 |/



ALUMINIUM SYSTEMS

94-20-00-2424
YUvbeapos viidas Jotép
Motorised system - lever linkage's connector

94-20-00-3784
Kandwki nepoidas LED
LED louver's cap

94-20-00-5155-2
Bouptadki No.7 - MaUpo
Brush No.7 - Black

94-20-00-5155-3
Bouptadki No.7 - Tkpl
Brush No.7 - Grey

94-20-00-1128
Bida e€dywvn DIN 557 INOX A2 6x20mm
INOX hexagon bolt DIN 557 A2 6x20mm

94-20-00-1129
MNa&ipddia INOX A2 6x20mm
INOX nuts A2 6x20mm

94-20-00-2448
KéAna onelpwpdtwy 60ml
Thread sealant 60ml

94-20-00-3115
06nyés tonoBétnons neipwv nepaidas
Louver's movement installation guide

0 0dnyds tonoBeteital and tnv nAeupd pe to YeyanUtepo PNKos yia tnv
T0MoB£TNoN TWV NPWTWV NEIPWYV. LTN GUVEXEI XpNaIonoleital and tnv
avtiBetn nAeupd.

At the beginning of the installation use the side with the greater length.
After that the guide must be used from the opposite side.

EXALCO PERGOLA BIOCLIMATIC-C / 49



CUTTING
INSTRUCTIONS
, G DIMENSIONS



ALUMINIUM SYSTEMS

/ KATAIKEYH NEPIFKOAAL ENOZX MAAIZIOY
CONSTRUCTION OF A SINGLE-FRAME PERGOLA

/  KATALKEYH MEPIKOAAX ME XQOPIZIMATA (TPABEPZA - XOPIZIMA)
CONSTRUCTION OF A PERGOLA WITH PARTITIONS (BEAM - PARTITION)

/  KATAZKEYH MEPTKOAAL ME XQOPIZMATA (XQPIZIMA - XQPIZMA)
CONSTRUCTION OF A PERGOLA WITH PARTITIONS (PARTITION - PARTITION)

EXALCO PERGOLA BIOCLIMATIC-C / 51



METPA G AIALTAYEIY KOMHL / CUTTING INSTRUCTIONS G DIMENSIONS

MINAKEZ TABLEOF > ENOZ MAAIZIOY T

AIAYTATEON  DIMENSIONS OF A SINGLE DIMENSION { n o) NUMBER OF LOUVERS

KAI APIBMOZ  AND NUMBER FRAME

MEPEIAON ~ OF LOUVERS 1430 - 1470 8
1600 - 1640 9
1760 - 1800 10
1920 - 1960 M
2080 - 2120 12
2250 - 2290 13
2410 - 2450 14
2570 - 2610 15
2730 - 2770 16
2900 - 2930 17
3060 - 3100 18
3220 - 3260 19
3380 - 3420 20
3550 - 3580 21
3710 - 3750 22
3870 - 3910 23
4030 - 4070 24
4200 - 4230 25
4360 - 4400 26
4520 - 4560 27
4680 - 4720 28
4840 - 4880 29
5000 - 5030 30
5170 - 5210 31
5490 - 5370 32
5500 - 5530 33
5660 - 5700 34
5820 - 5860 35
5980 - 6020 36

[+]

H 8idotaon avuotoixel ous eEwtepikés NAgUpEs tns

kataokeuns. MNa us diaotdoels nou dev undpxouv atov
nivaka, npoteivetal n xpnon Kapé avdnoya Pe Us avaykes.

The dimensions of the external side of the construction are
measured. For dimensions that are not included in the
table, the use of rectangular tubes is suggested, when
needed.

52 / KATALKEYH NEPIKOAAL PERGOLA CONSTRUCTION



ME X(QPIZMATA
(TPABEPZA - XQPIZIMA)
WITH PARTITIONS
(BEAM-PARTITION)

AIALTAIH B (oe mm)
DIMENSION B (in mm)

APIGMOX NEPZIAQN
NUMBER OF LOUVERS

2440 - 2480 14
2600 - 2640 15
2770 - 2800 16
2930 - 2970 17
3090 - 3130 18
3250 - 3290 19
3420 - 3450 20
3580 - 3620 21
3740 - 3780 22
3900 - 3940 23
4070 - 4100 24
4230 - 4270 25
4390 - 4430 26
4550 - 4590 27
4720 - 4750 28
4880 - 4920 29
5040 - 5080 30
5200 - 5240 31
5370 - 5410 32
5530 - 5570 33
5690 - 5730 34
5850 - 5890 35

H 6idotaon eivar and tnv e€wtepikn nAgupd tns tpafépaas péxpl
10 péoo tou xwpiopatos. la us diaotdoels nou dev undpxouv otov
nivaka, npoteivetal n xpion kapé avdioya pe s avdykes.

Dimensions are measured from the external side of the beam to
the middle of the partition. For dimensions that are not included
in the table, the use of rectangular tubes is suggested, when
needed.

ALUMINIUM SYSTEMS

ME XQPIZMATA
(XQPIZMA - XQPIZMA)
WITH PARTITIONS
(PARTITION-PARTITION)

AIALTAIHT (oe mm) APIBMOX NEPZIAQN

DIMENSION T (in mm ) NUMBER OF LOUVERS
2480 - 2520 14
2640 - 2680 15
2800 - 2840 16
2970 - 3000 17
3130 - 3160 18
3220 - 3260 19
3450 - 3490 20
3620 - 3650 21
3780 - 3810 22
3940 - 3980 23
4100 - 4140 24
4270 - 4300 25
4430 - 4460 26
4590 - 4630 27
4750 - 4790 28
4920 - 4950 29
5080 - 5110 30
5240 - 5280 31
5400 - 5440 32
5570 - 5600 33
5730 - 5760 34
5890 - 5930 35

H 61dotaon eival and to péoo tou evés Xwpiopatos PEXpI 1o HEo
T0U endpevou xwpiopatos. la s diaotdoels nou dev undpxouv
otov nivaka, npoteivetal n xpAon kapé avdnoya pe s avaykes.

Dimensions are measured from the middle of the partition until
the middle of the next partition. For dimensions that are not
included in the table, the use of rectangular tubes is suggested,
when needed.

EXALCO PERGOLA BIOCLIMATIC-C / 53



METPA G- AIALTAZEIZ KOMHL / CUTTING INSTRUCTIONS G DIMENSIONS

/ METPA KOMHZ MEPZIAAL
LOUVER'S CUTTING DIMENSION

W

93,4mm

la tov unofoyiopd tou pAkous tns nepoidas [l apaipoUpe 187mm and to auvoiké prkos M tns tpaBépoas.

To calculate the length of the louver [l you must subtract 187mm from the total length [l of the beam.

/ METPA KOMHE 1A MPO®IA KINHIHL (NTIZA)
CUTTING DIMENSIONS FOR MOVEMENT PROFILE

la tov unodoyiopd tns didotaons

ToU NpoiA Kkivnans:

NtiZa = [ -240mm

TonoBétnon npo@id kivnans:

To npo@in tonoBeteital 173mm and to
€0WTEPIKO NS Tpafépadas.

To calculate the dimension of the
movement profile:

Movement Profile = [l - 240mm
Installation of the movement profile: It
must be installed at 173mm from the
beam'’s internal side.

54 /

A MPOZOXH! H popd tns nepoidas
va eival énws unodukveietal ato
napandavw oxédio.

/\ ATTENTION! The louver's
direction should be as shown in the

drawing above.




ALUMINIUM SYSTEMS

/ NEPFKOAA ME XQPIZMA - METPA KOMHE A MPO®IA KINHIHL (NTIZA)
PERGOLA WITH PARTITION - CUTTING DIMENSIONS FOR MOVEMENT PROFILE

n : n

44 S S Wy ] e | S

o

o

2
o
o

-l e
i i
324mm T —— 173mm ——
T \
92,4mm 233mm

TMHMA 1 / SECTION 1 TMHMA 2 / SECTION 2
YNOAOTIZMOE AIAZTAZHI TOY MPOOIA KINHIHE YNOAOTIZMOE AIAZTAZHI TOY MPOOIA KINHIHE
MOVEMENT PROFILE DIMENSION CALCULATION MOVEMENT PROFILE DIMENSION CALCULATION
NtiZa = [ -290mm NtiZa = [ -290mm
TOMOBETHEZH: To npogin tonoBeteital TOMOBETHEZH: To npoin tonoBeteital
173mm and 10 e0WTEPIKO Tns Tpafépadas. 173mm and tnv eowtepikn NAgupd Tou
Mpoaooxn, to npodin tns viidas Ba npénel va xwpiopatos. Mpoooxn, to npodin tns viidas
teppatidel npiv Eengpdoel tnv Téna tns Ba npénel va teppatiel npiv Eenepdaoel tny
teneutaias nepaidas. tdna tns tedeutaias nepaidas.
A MPOLOXH! H popd tns nepaidas A MPOLOXH! H popd tns nepaidas
va eival 6nws unodukveietal oto napandvw va eival 6nws unodukveietal oto napandvw
oxgblo. oxgblo.
Movement profile = B -290mm Movement profile = B -290mm
INSTALLATION: The profile must be installed INSTALLATION: The profile must be installed
at 173mm from the beam'’s inside. Attention, at 173mm from the beam's inside. Attention,
the profile must stop at the cap of the last the profile must stop at the cap of the last
louver. louver.
A ATTENTION! The louver's direction should A ATTENTION! The louver's direction should
be as shown in the drawing above. be as shown in the drawing above.

EXALCO PERGOLA BIOCLIMATIC-C / 55



METPA G- AIALTAZEIZ KOMHL / CUTTING INSTRUCTIONS G DIMENSIONS

/ TOMOBETHIH MOTEP
MOTOR PLACEMENT

To potép tonoBeteital oto kévipo tns Tpafépaoas nou eival
kaBetn ous nepaibes. MNa tnv tonoBEtnon tou anaiteital n
Bidtpnon tns tpaBépaas (pe biduetpo B7mm) ota 26,5mm Kal
68,5mm and tnv e€wtepikn nAgupd ns.

The motor must be placed in the center of the beam that is

(2445

vertical to the louvers. To place it correctly, you must drill the
beam (with a diameter of @7mm) at a distance of 26,5mm and

68,5mm from its outer side.

200-718

Bida e€dywvn MBx16 INOX
Inox hexagon bolt M6x16

Pobénda aotepoeidns yia M6

(3796)

Tooth lock washer cone for bolt M6

3 E€dywvo na&iuadi yia Bida M6x16
Hexagon nuts for bolt M6x16

TpUna Bidas 7mm

o o (=}

Hole for bolt 27mm

¥

A/2

H Bdon tou potép tonoBeteital 110mm and tn péan tns tpaBépaas.

A MPOXOXH!"Otav 1o potép eivar avoixtd ol nepaides eival kAgiotés.
‘Otav eival kAeI0td ol nepaides eival avoIxtés.

The pergola's motor system base must be installed at a distance of 110mm from the
center of the beam.

A ATTENTION! When the motor system is open the louvers are closed

and when the motor system is closed the louvers are open.

56 /



OAHIIEL TOMOBETHXHY / PLACEMENT INSTRUCTIONS

ALUMINIUM SYSTEMS

/ TOMOGETHIH METAAAIKHE BALHE ITHPIEHE
KOAONAL ME NEPOXYTH (KNA.2444)
PERGOLA'S MULLION METALLIC BASE
WITH DRAINING HOLE (CODE 2444)

MNa tnv tonoBétnaon tns petadikns Bdons otipIEns kondvas
e udpoppon (2444), apxika anaiteital n agaipean
koppatiol Uyous 80mm and 1o e0wtepIkd TNs KoAdvas
(200-734), 6nws evbeikvutal ats Aentopépeles s €1K.1.
Ytn ouvéxela yivetar n tonoBétnon tns ouptapwtd, 6onws
atnv €lk. 2.

For the installation of the metallic base with the draining
hole (2444), you must first remove a piece of 80mm height
from the inside of the mullion (200-734), as shown in fig.1.
Then, place it as shown in fig.2.

200-734

80mm

2444

k. 2/ fig. 2 elk. 1/fig. 1

EXALCO PERGOLA BIOCLIMATIC-C / 57



OAHFIEX TOMOBETHEHL / PLACEMENT INSTRUCTIONS

/ TOMOBETHZH MPO®IA 200-730 200-718
200-730 PROFILE INSTALLATION

200-730

elk. 1/fig. 1

‘Avorypa anoppons vepoU - B60mm

Water drainage opening - 360mm

Tpunnya yia ywvia cuvdéoews - tpunes B6mm
Piercing for connection square - holes B6mm

X 0Ban tpunes B10mm
Oval holes @10mm

200-718 200-730
200-725
( \'@ﬂ
- 30mm -
elk. 2 /fig. 2

58 /



ALUMINIUM SYSTEMS

Avoiyoupe oBdn tplnes didotacns B10mm kal nAdtous 40mm (€1K. 2) Katd pnkos twv npoeid 200-730 kai 200-718 avd
1 yétpo andataon, énws Paivetal atny €ik.1.
Two oval holes of 810mm and 40mm length are drilled (fig. 2) along the 200-730 and 200-718 profiles with 1m distance

between them, as shown in fig. 1.

TonoBetoUpe appodkodia atnv neploxn yUpw and us tpunes nou Npoavagépaye yia gteyavonoinon.
A sealant is applied around the above mentioned holes to achieve the sealing of the profiles.

EXALCO PERGOLA BIOCLIMATIC-C / 59



60



ALUMINIUM SYSTEMS

EXALCO PERGOLA BIOCLIMATIC-C / 61



62






[
[=]

www.exalco.gr

EXALCO.

ALUMINIUM SYSTEMS

EXALCO A.E.

50 xAy. Nadaids E.O. Aapions - ABnvav
Népioa, EARGda

5% Km Old National Rd Larissa - Athens
Larissa - GREECE

T. +302410 688 688

F. +30 2410688 530

E. info@exalco.gr

www.exalco.gr

(@5)
1
=
—
<
=
—
(@S]
=
m
<t
-
o
(L)
(a
L
o
S~
=
=




